
DETAIL B

   

 

 

PLAN (TOP) VIEW

ANCHORS REPRESENTED BY “X”

CASE LINEUP

STANDALONE CASE

HOOK RESTRAINT 
BRACKET OVER BASE RAIL 
AND TIGHTEN AFTER CASE IS 
IN PLACE

SQUARE 
PLATE WASHER

ANCHOR-WEDGE
3/4-10 x 4-3/4 

 SEE NOTES

REACH UNDER 
CASE TO INSTALL 
BRACKET

FRONT BACK

SEE NOTES

MINIMUM 
DEPTH 3-3/8 INCHES 

MAXIMUM 
DEPTH 3-7/8 INCHES

3/4-10 NUT

RESTRAINT 
BRACKET

 

Do not remove front braces until
cases are properly secured. 

1.
1.

1.

1. Remove rear wood brace, rear sheet metal brace and vertical end brace.

2.

3.

3.
3.

2.
    

2.  

2.
Case-to-store structure

(wall) option 

A

Detail A

RECYCLE SHIPPING
BRACES AND
PACKAGING  3”

MIN GAP
BETWEEN
CASE BACK
& WALL

14.25”

WALL

8.33”

19.79”
WALL

8.33”

RESTRAINT KIT INSTALLATION 

3/8” Threaded rod
(Cut as necessary)

3/8” Channel Nut

3/8” Lock
nut

Vertical end brace

Rear wood brace
Rear sheet metal brace

Front wood brace
Front sheet metal brace

Secure case to existing store structure using case mounting kit.

After case is secured, remove front wood brace and front sheet metal brace.

INSTRUCTION- S-SERIES MOUNTING POSTER

ATTENTION
INSTALLER

WARNING

The SD6 display cases with doors must be
securely anchored to the floor, wall, or back-to-
back case during the installation in accordance
with the installation manual. Failure to follow such
instructions may result in serious injury or death.

WARNING

Case-to-case option

Floor option
3/4-10 NUT SQUARE

PLATE WASHER 

HOOK RESTRAINT
BRACKET OVER BASE RAIL
AND TIGHTEN AFTER CASE IS
IN PLACE

RESTRAINT
BRACKET

SEE NOTES

FRONT BACK

ANCHORS REPRESENTED BY “X”

CASE LINEUP

STANDALONE CASE

PLAN (TOP) VIEW

ANCHOR-WEDGE
3/4-10 x 4-3/4
SEE NOTES

REACH UNDER
CASE TO INSTALL
BRACKET

STANDARD CASE

NARROW CASE

3”
MIN GAP
BETWEEN
CASE BACK
& WALL

MINIMUM DEPTH
3-3/8 INCHES 
MAXIMUM DEPTH
3-7/8 INCHES

PN 3121192_C
 Spanish: P/N 3120219_C


